1.Dga!! ~ 2.Sb2+! ab2 3.Lc4+! L:c4 4.Tb3+ L:b3#
1...Lh7 2.Le4+! L:e4 3.Td5+! L:d5 4.Df3+ L:f3#
1...cb4 2.Te3+! D:e3 3.Se5+! D:e5 4.De2+ D:e2#

Ivan Soroka
2" Prize, B.5poH 110 MT, 2019
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SH#4 8+8

Cyclic shift of vacation sacrifices of 3 white pieces and 3 squares: [Sc4-Ld5], [Ld5-Te5],
[Te5-Sc4]:

e A good key destructing white battery Ld5 + Dd7
* |In each variant 3 white sacrifices — totally 9 sacrifices.

Threat: sacrifice of Sc4 — square vacation c4 for the Bd5.
1* variant: sacrifice of Bd5 — square vacation d5 for the Re5.
« 2" variant: sacrifice of Re5 — square vacation e5 for the Sc4.

* Well constructed problem — white oktet, position without white Pawns.

LuKnuuecKkoe yepedosaHue xepme mpex benbix puayp Ha mpex noaax c4, ds, es:
[Sc4-Ld5], [Ld5-Te5], [Te5-Sc4]:

Judge: A.Selivanov
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S#6 C+ 8+12
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1.La4! ~ 2.S:g5+ A fg5 3.Tf4+ B gf4 4.Lc6+ C Sed 5.Sh4+ D L:h4+ 6.Df2+ E L:f2#
1... Sed 2.Df2+ E S:f2 3.S:g5+ A fg5 4.Tf4+ B gf4 5.Lc6+ C Se4d 6.Sh4+ D L:h4#

Cycle of 5 white moves: ABCDE-EABCD

1... D:h2 2.Tf4+ B gf4 3.Df2+ E Ke4 4.Dd4+ F Kf3 5.Sh4+ D D:h4 6.Dd5+ Sed#
1... Sh5 2.Sh4+ D gh4 3.Tf4+ B S:f4 4.Df2+ E Ke4 5.Dd4+ F Kf3 6.Dd3+ S:d3#

Cycle of 4 white moves: BEFD-DBEF

Unique problem with two pairs of variants and two cycles of moves ABCDE-EABCD and
BEFD-DBEF with multiple sacrifices of white pieces, creation and play black batteries.

YHUKanbHasA 3a0a4a ¢ 08yMA napamu 8apuaHmMos u 08yMsA YUKaamu xo0o8 besbix
ABCDE-EABCD u BEFD-DBEF, mHo204uUCneHHble #epmabl benbix huayp, co30aHue u uepa
yepHbix bamapedl.
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1% step: free 5" rank (h5-d5). [ocgo6oxderue 5-ii 20puzoHmManu om 6e1020 KOHA]
1.5d7! [~ 2.Ta:d5+ D:d5#] Lg2 2.Sh8!! Lf1.

2" step: free file “g” of white Bishop. [y6pams 6es020 cnoHa c sepmukanu «g»]
3.Th8 Lg2 4.Th5 Lf1 5.Lf5 Lg2 6.Lc2 Lf1.

3" step: removing of black Pawn g4 with switchback. [yHuumoscume yepHyto newry g4]
7.Th8 Lg2 8.Td8 Lf1 9.Tg8! Lg2 10.Tg5 Lf1 11.T:g4 Lg2 12.Tg5 Lf1 13.Tg8 Lg2 14.Td8
Lf1.

4™ step: white Knight returns back. [eozepam 6es020 koHs]
15.5d7! Lg2 16.Se5 Lfl.

5™ step: main plan [2aaeHbiii naaH]
17.Tg8 Lg2 18.5f3+! (Rome theme) L:f3 19.Tg5 Lh5 20.Ta8 Lf3 21.Td8 Lh5 22.Th8
Lf3 23.Thh5 ~ 24.T:d5+ L:d5 25.T:d5+ D:d5#

The problem in classical style with enormous amount of logical steps, switchbacks, Rome
theme.

MHozocmyneH4amasa U MHO20MAAQHO8AA 300a4Ya /102U4EeCK020 CMUAA C MOHKUM
MaHespuposaHuem 4-x benbix puayp, 8038pamel, Pumckaa mema.
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S#13 9+12

Main plan: 1.Df4? ~ 2.Sc3+ dc 3.Dc4+ L:c4#, but 1... Lb1!

1.5f4+ Ke5

2.5e2+ Kd5. White bring his Knight to a convenient position.

[Benbie c memnom nepeesesu c80e20 KOHA HA yOobHYyo no3uyuro.]

3.Df1! [~4.52c3+ dc 5.Dc4+ L:c4#] d3

The first three moves of solution can’t be reordered 1.Df1!? ~ 2.5f4+ Ke5 3.5f~+ Kd5
4.Dc4+ L:c4# because 1... Dh6!

4.Df4! [~5.54c3+ dc 6.Dc4+ L:c4#] Lbl

5.D:d2! [~6.D:d3+ L:d3#] La2.

[5.De3? would be too early in view of the nice response 5... d1T!!]

6.Df4! [~7.5f6+ gf6 8.Dcd+ L:c4#] Lbl

7.De3! [~8.D:d3+ L:d3#] La2. It may seem that it’s time to say “That’s the end of it all,”
since there is no good continuation to be seen. However, what follows is a cascade of
white sacrifices climaxing in an unexpected final chord.

[Kazanoce bbi, 8ce — «nipuexanu», Npoo0oaxeHuUs He BUOHO. Ho mym cnedyem Kackao
6enbix #eepme ¢ HEOHUOAHHbLIM (PUHANbHBIM AKKOpPOOM. |

8.5:f6+! gf6 (Knight sacrifice)

9.5f4+ Kd6 10.Sh5+ Kd5 11.S:f6+! T:f6 (sacrifice of second Knight)

12.Le6+! T:e6 (Bishop sacrifice)

13.D:d3+! D:d3#! (Queen sacrifice)

“A logical problem with a fresh mechanism of interchange of white queen’s hideaway
behind her knights, white Siers battery play and a fabulous final combination. A bright
thing!” (Judge A.Azhusin)
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Main plan 1.Sb7+ Keb6 2.D:e4+ L:e4#? fails because - 3.S:e4.

1.Se2 [~ 2.Sb7+ Ke6 3.D:ed+ L:ed#] Th4

2.5g3 [~ 2.S:e4+ T:e4 3.Sb7+ Ke6 4.D:e4+ L:e4#] T4h3

3.Sb7+ Ke6 4.Sc5+ Kd6

5.Se2! Return of Knight. [Bo3zspam koHsa]. [~ 6.Sb7+ Ke6 7.D:e4+ L:e4#] Th4

6.d8S! [~ 7.Sc:e4+ T:e4 8.Sb7+ Ke6 9.D:e4+ L:ed#] T4h3. Third white Knight on the board!
7.5d7! [~ 8.Sb7+ Ke6 9.D:e4+ L:ed#] Tha

8.5¢3 T4h3. Initial position has repeated except Pawn d7 replaced by promoted Knight.
Sd8 < P(S)d7!.

[[Moemopunace ucxo0Haa NO3uyua 3a0a4u, MosabKO 8MeCmMo newkKku Ha d7 cmoum KOHb,
npu 3mom KoHb d8 u newkKa d7 (npespawieHHas 8 KOHA), MOMeHAAUCL mecmamu — Sd8 &
P(5)d7!]

9.Sb8 [~10.Sb5+ ab 11.Sb7+ Ke6 12.D:e4+ L:e4#] a5

10.Sd7 [~¥11.Db4d+ ab4 12.S:e4+ L:e4#] Th4. Return of Knight. [Bozepam KoHA]

Black Rook moved to h4 and controls square e4. And now main plan:

[HepHasa nadea => h4 u 83amsaa nod KOHMPOb rose e4. Tenepb 2Aa8HbIU M1aH:]
11.S:e4+ T:e4 12.Sb7+ Ke6 13.D:e4+ L:ed#

Logical problem in the original shema implemented by author with amazing movement of
the three white Knights. Two swichbacks of white Knights. Platztausch Sd8 < P(S)d7.

[/locuueckas 3a0a4ya ¢ HembicAumMoU Kapycesnbo mpolKu besnbix KoHeli 8 Opu2UHANbHOM
mexaHu3me. 1o xo0y peweHuA rnpoxodsm 0s8a eo3epama besbix KoOHel, nepemeHa mecm
6enbix puzyp Sd8 < P(S)d7.]
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S#14 9+8

Main plan - 1.a8D+ Kd4?? 2.Ded+ L:e4#, but 1.a8D# because Lgl controls the square d4 -
Berlin theme. It’s necessary to lost control on square d4 by white Bishop. At first move
white Bishop to another side.

1.Lh2! [~2.a8D+ Kd4 3.De4+ L:e4#] Kd4 2.Le5+ Kd5

3.Ld6! [~4.a8D+ Kd4 4.Ded+ L:ed#] Kd4 4.Lc5+ Kd5

5.La3 [~6.a8D+ Kd4 7.De4+ L:e4#] Kd4 6.Lb2+ Kd5.

Now white Rook is playing. [K uepe nooknroyaemca 6enas nadeA].

7.Tc3! [~8.a8D+ Kd4 9.De4d+ L:e4#] Kd4

8.Tc6+! Kd5. Diagonal a8-h1l is interferenced by Rook, Pawn is promoting without check.
[/1adbs nepekpsbina duazoHane a8-h1, newka npespawaemcs 6e3 waxa.]

9.a8D [~10.Tc3+ Kd4 11.De4d+ L:e4#] elT\.

It seems no continuing for White — black Rook protected square e4, main plain fails
because 11.T:e4!. Unexpected White found new resource:

[Kaxcemcs, ymo 6envle 3awiau 8 mynuk, YepHasa Aa0bs 3auumuna nose e4, u enasHsili
naaH He npoxodum u3-3a 11... T:e4!. Ho Haxodumcsa HeoxuOaHHsbIl pecypc:]

10.Le2!! T:e2. [10...Tf1+ 11.Lf3+ L:f3 12.Tc3+ Kd4 13.Ded+ L:ed#]

11.Tc3+ (Switchback of Rook) Kd4

12.Da7+ Kd5 13.D:a5+ Kd4 14.De5+ T:e5#

The logical problem, light position, change of main plan, white and black battery creation,
white/black DT Pawn promotion.

[3a0aua noz2uvecko2o cmunsA 8 se2Kol No3uyuU ¢ HeOXUOAHHOU CMeHOoU 2/1a8HO20 MN/AHQ,
obpazosaHue u uepa benvix bamapeli /1+C, npespawieHus 6enaoli u YepHol newex.|



